CALCULATION PROBLEMS
Pearson Edexcel — Monday 8 June 2020 - Paper 3 (Calculator) Higher Tier
1.

4 Maisie kmoows that she needs 3 kg of grass seed to make 3 rectangular lavn 5m by Sm
Grass sead is sold m 2 kg bomes.

Miaisie wants fo make 3 rectangular lavn 10m by 14m
She has 5 bomes of grass seed.

(a) Has Maisie got enough grass seed to make a lanvm 10m by 14m™
Fiou st shovr all your werdng.

Mimisie opens the 5 booes of grass seed

5She finds that 4 of the boxes conrain 2 ke of grass seed
The ather box contains 1 kg of grass seed

(b)) Drpes this affect whether Maisie has enough zrass seed to make ber lawn?
Give a reason for your answer.

(Total for Question 4 is 5 marks)

Pearson Edexcel - Tuesday 21 May 2019 - Paper 1 (Non-Calculator) Higher Tier
2.



2  Deon needs 50 g of sugar to make 15 biscuits.

She also needs
three times as much flour as sugar
two times as much butter as sugar

[Feon is going to make 60 biscuits.

{a) Work out the amount of flour she nesds.

[Deon has to buy all the butter she needs to make 60 biscuits.
She buys the butter in 250 g packs.

(b} How many packs of butter does Deon need to buy™

{Total for Question 2 is 5 marks)

Pearson Edexcel - Thursday 6 June 2019 - Paper 2 (Calculator) Higher Tier
3.



4 A container is in the shape of a cuboid.

19 e

3

em
T
The container is i full of water.
A cup holds 275 mi of water.

Wheat is the greatest number of cups that can be completely filled with water from the container?

{Total for Question 4 is 4 marks)

Pearson Edexcel - Thursday 8 November 2018 - Paper 2 (Calculator) Higher Tier
4,



5 The diagram shows a floor in the shape of a rapezium.

T
e
T i
Llitres
16 m £16.00

John is geing w paint the floor.

Each 5 litre tin of paint cosis £16.99
1 litre of paint covers an area of 2 m?

John has £160 1w spend on paint.

Has John got enough money to buy all the paint be needs?
Youn oSt show how vou gel your answer.,

{ Total for CQruestion 5 i 5 marks)

Pearson Edexcel - Monday 12 November 2018 - Paper 3 (Calculator) Higher Tier
5.



# The diagram shows a solid metal cuboid.

The areas of three of the faces are marked on the diagram.
The lengths, in cm, of the edges of the eubeid are whole nombers.

Ment®

15 em®
45 e

The metal cuboid is melied and made into cubes.
Each of the cubes has sides of length 25 cm.

Work out the greatest number of these cubes that can be made.

{ Total for Qruestion 8 k& 5 marks)

Pearson Edexcel - Tuesday 12 June 2018 - Paper 3 (Calculator) Higher Tier
6.



14 There are 16 hockey teams in a league.
Each team played two matches against cach of the other teams.

Work out the total number of matches played.

{Total for Question 14 is 2 marks)

Pearson Edexcel - Thursday 2 November 2017 - Paper 1 (Non-Calculator) Higher Tier

7.

9  James and Peter cycled along the same 50 km route.

James took 2% hours to cycle the 50km.

Peter started to cycle 5 minutes after James started to cycle.
Peter caught up with James when they had both cveled 15km.

James and Peter both cycled at constant speads.

Work out Peter’s speed.

(Total for Question 9 is 5 marks)



Pearson Edexcel - Thursday 2 November 2017 - Paper 1 (Non-Calculator) Higher Tier
8.

13 A factory makes 450 pics every day.
The pies are chicken pies or steak pies.
Each day Milo takes a sample of 15 pies to check.

The proportion of the pies in his sample that are chicken is the same as the proportion of
the pres made that day that are chicken.

Un Monday Milo calculated that he needed exactly 4 chicken pies in his sample.

(a) Work out the total number of chicken pies that were made on Monday.

(n Tuesday, the number of steak pies Milo needs in his sample 1s & comrect to the nearest
whole pumber.

Milo takes at random a pic from the 450 pics made on Tuesday.

b} Work out the lower bound of the probability that the pic 15 a steak pie.

{ Total for Question 13 is 4 marks)

Pearson Edexcel - Thursday 2 November 2017 - Paper 1 (Non-Calculator) Higher Tier
9.



12 The two triangles in the diagram ane similar,

c

Xom

fcm

g 17 o E Jem

There are two possible valses of x.

Work out each of these valoes
State any assumptions you make in your working.

(Total for Question 22 is 5 marks)
Pearson Edexcel - Thursday 2 November 2017 - Paper 1 (Non-Calculator) Higher Tier
10.



I3 Here is a rectangle and a right-angled triangle.

x

Al measurements are in centimetres.
The area of the rectangle is greater than the arca of the triangle.

Find the set of possible values of x.

{Total for Question 23 is 5 marks)

Pearson Edexcel - Monday 6 November 2017 - Paper 2 (Calculator) Higher Tier
11.



9 Yesterday it took 5 cleaners 4% hours to clean all the rooms in a hotel.
There are only 3 cleaners to clean all the rooms in the hotel today.
Each cleaner 15 paid £8.20 for each hour or part of an howur they work.

How much will each cleaner be paid today?

£

(Total for Question ¥ is 3 marks)

Pearson Edexcel - Monday 6 November 2017 - Paper 2 (Calculator) Higher Tier
12,

18 At time ¢ =0 hours a tank 15 full of water.

Water leaks from the tank.
At the end of every hour there is 2% less water in the tank than at the start of the hour.

The volume of water, in litres, in the tank at time t hours is ¥,

Giiven that

¥, = 2000
V., =k,

I+

write down the value of k.

k=

{Total for Question 18 is 1 mark)




Pearson Edexcel - Wednesday 8 November 2017 - Paper 3 (Calculator) Higher Tier
13.

16 The petrol consumption of a car, i litres per 100 kilometres, 15 given by the formula

100 = Mumber of litres of petrol used
Mumber of killometres travelled

Petrol consumption =

Mathan's car travelled 148 kilometres, correct to 3 sipnificant figures.
The car used 11.8 litres of petrol, cormect to 3 significant figures.

Mathan says,
“My car used less than 8 litres of petrol per 100 kilometres.”
Could Mathan be wrong?

You must show how you get your answer.

(Total for Question 16 is 3 marks)

Pearson Edexcel - Thursday 25 May 2017 - Paper 1 (Non-Calculator) Higher Tier
14.



9 Jules buys a washing machine.

20% WAT is added to the price of the washing machine.

Jules then has to pay a tofal of £600

What is the price of the washing machine with ne VAT sdded?

£

(Total for Question ¥ Is 2 marks)

Pearson Edexcel - Thursday 25 May 2017 - Paper 1 (Non-Calculator) Higher Tier

15.

13 The table shows a set of values for xand 1.

v is inversely proportional to the square of x.

(2) Find an equation for ¥ in terms of x.

(b) Find the positive walue of x when 1= 16

{Total for CQuestion 13 is 4 marks)



Pearson Edexcel - Thursday 8 June 2017 - Paper 2 (Calculator) Higher Tier
16.

4 Olly drove 56 km from Liverpool to Manchester.
He then drove 61 km from Manchester to Sheffield.

Olly’s average speed from Liverpool to Manchester was 70 knvh.
Olly took 75 minutes to drive from Manchester to Sheffield.

(a) Work out Olly’s average speed for his total drive from Liverpool to Sheffield.

Janie drove from Barnsley to York.

Janie’s average speed from Bamsley to Leeds was 80 knvh.
Her average speed from Leeds to York was 60 kmv/h.

Janie says that the average speed from Barnsley to York can be found by working out the
mean of 80 km/h and 60 km/h.

(b) If Janie is correct, what does this tell you about the two parts of Janie’s jouney?

Pearson Edexcel - Thursday 8 June 2017 - Paper 2 (Calculator) Higher Tier
17.



1 The table shows some information about cight planets,

Planet Distanee from Earth (km) Mass (kg
Earth 0 5097« 1P
Jupiter _ 629 = 10f 1808 « 107
Mars 783 = 107 _ 642 = 107
Mercury | 9.17 x I | 3302 % 10 |
M epumne 435 = 1° 1.024 = 107™
Saturn 1.28 = I0° 568 x 10
Uranus 271 = I e R
Venus 404 = I° 4869 = 10

{a} Write down the name of the planet with the greatest mass.

(b} Find the difference between the mass of Venus and the mass of Mercury.

Mishat says that Meptune is over a hundred times further away from Earth than Venus is

(e} 1s Nishat right?
You must show how you get your answer.

(Tota for Question 10 by 4 marks)

Pearson Edexcel - Tuesday 13 June 2017 - Paper 3 (Calculator) Higher Tier
18.

kg



4 Daniel bakes 420 cakes.
He bakes only vanilla cakes, banana cakes, lemon cakes and chocolate cakes.

% of the cakes are vanilla cakes.

35% of the cakes are banana cakes.
The ratio of the number of lemon cakes to the number of chocolate cakes is 4:5

Work out the number of lemon cakes Daniel bakes.

{Total for Question 4 is 5 marks)

Pearson Edexcel - Specimen Papers Set 2 - Paper 1 (Non-Calculator) Higher Tier

19.



£ Umns sheet of A3 card has area im—‘.
The card has a mass of 160 z per m*.

Werk out the total mass of 25 sheets of A3 card.

(Total for Question 5 is 4 marks)

Pearson Edexcel - Specimen Papers Set 2 - Paper 1 (Non-Calculator) Higher Tier

20.

T A shop has a sale.

Microwate ovens

% off normal price

A mwcrowate oen has a sale price of £90
A combination oven has a sals price of £34

Whach of these ovens has the greater normal price?

You must show all vour workimg.

Combination ovens

40% off normal price

{Total for Question T is 4 marks)




Pearson Edexcel - Specimen Papers Set 2 - Paper 3 (Calculator) Higher Tier

21.

§ Aradepth of ¥ metres, the temperature of the water in an ocean is T°C.
At depths belonr 00 metres, T is inversely proportional to x.
Tis given by
45(Wh
X

(a) Work out the difference in the temperamre of the water at a depth of 1200 memre: and
the temperatare of the water at a depth of 2300 metres.

=

“iC
Here ars four graphs.

N A N B

a X o i

T ¢ T b

f |I
/lllll I|II
el » - i
o X o *J.

COme of the graphs could shewr that T is imversely proportional o x.
(b} Write dornm the letter of this graph

{Total for Question & is 4 marks)

Pearson Edexcel - Specimen Papers Set 1 - Paper 1 (Non-Calculator) Higher Tier

22.



12 Sean drives from Manchester to Gretna Green.
He drives at an average speed of 50 mph for the first 3 hours of his journey,

He then has 150 miles to drive to get o Gretna Green.
Sean drives these 150 miles ar an average speed of 30 mph,

Hean says,
“My averape speed from Manchester to Gretna Green was 40 mph."

Is Sean right?
You must show how you get your answer.

ATotal for Cluestion 12 is 4 marks)

Pearson Edexcel - Specimen Papers Set 1 - Paper 2 (Calculator) Higher Tier

23.

T Becky has some marhles.
Chris has two times as many marbles as Beckoyw.
Dan has seven more markles than Chris.

They have a total of 57 marbles.

Dan says,
“If I give some marbles to Becky, cach of us will have the same nuember of marbles.”™

I3 Dan correct?
You must show how you get your answer.

i Total for Question 7 is 3 marks)



Pearson Edexcel - Specimen Papers Set 1 - Paper 2 (Calculator) Higher Tier

24.

16§ The histogram gives information about house prices ina village in 2005

Frequency
densaty

o oo 200 300 400 500 600 TOO 800 SO0 1000

Price (£ thousands)

20 hoeses i the village have a proce between L3000 and £300 )
Work out the number of houses in the village with a price under £200 000

{Tatal for Question 16 is 3 marks)

Pearson Edexcel - Specimen Papers Set 1 - Paper 2 (Calculator) Higher Tier

25.



L
11 = =
.r

1 =997 correct 1o | decinsal place,
=67 comect to 2 significant figures.

Work ouwt an upper bound for D,

(Total for Cruestion 22 ks 3 marks)

Pearson Edexcel - Specimen Papers Set 1 - Paper 3 (Calculator) Higher Tier

26.



200 Murk has made a clay model,
He wall now make a clay statue that 15 mathematically similar to the clay model.

The model has a base area of bom?
The statue will have a base area of 253.5 ¢y’

Mark used 2kg of clay o make the model.

Clay is sold in 10kg bags.
Mlark has to buy all the clay he needs o make the statue.

How many bags of clay will Mark need to buy?

{Total for Croestion 20 is 3 marks)

Pearson Edexcel - Sample Paper 1 - (Non-Calculator) Higher Tier

27.



T There are 1200 smdents at a school

Eate is helping to organiss a party.
5he is going to order pizza.

Eate takes 3 sample of §0 of the stwdants at the school
5he asks each stdent to tell her one type of pizza they want.

The rable shovrs mformation abowt her results.

Firza Number of students
ham 0
salami 15
Tegetarian -
TMATEArita 17

Work out hov opmach ham pizza Eate shonld order
Write dovm any assamption you make and explain horr this could affect your ansvwer.

{Total for Question 7 is 3 marks)

Pearson Edexcel - Sample Paper 2 - (Calculator) Higher Tier

28.



4 Axel and Lethna are driving aleng a motorway.

They see a road sign.
The road sign shows the distance to Junetion 2
It also shows the average time drivers take to get to Junction 3

To Junction £
30 miles
26 mimates

The speed limit on the motorway is 70 mph.

Lethna says
“We will have to drive faster than the speed limit to drive 30 miles i 26 minutes.”

Is Lethna right?
You must show how you get your answer.

(Total for Question 4 is 3 marks)

Pearson Edexcel - Sample Paper 3 - (Calculator) Higher Tier

29.



=

Henry is thinking of having a water meter.

These are the two ways he can pay for the water he uses.

-

h

R
Water Meter No Water Meter
A charge of £18 20 per year A charge of £107 per year
plus
91 22p for every cubic meme of water used
1 cubic maeire = 1000 litTes )

Henry uses an average of 150 litres of water each day.

Use this information to determine whether or not Henry should have a water meter

{Total for Qmestion & is 5 marks)

Pearson Edexcel - Thursday 26 May 2016 - Paper 1 (Non-Calculator) Higher Tier

30.



*T The disgram shovws the plan of 3 flaor

in

2im 25m
M| L ] L

Diiagram NOT
accurataly dramwn

Gm

m O
10m

Angie is poing to vamish the floor.

5She needs 1 lime of vamish for 5m? of floor.
There are 2.5 lioes of vammish in each tn of vamish

Angie has 3 tins of vamish.

Dioes she have enough vamish for sl the floor?
You must shor all your workdng.

(Total for Question 7 is 5 marks)

Pearson Edexcel - Thursday 9 June 2016 - Paper 2 (Calculator) Higher Tier
31.



¥4 A shop sells bags of erisps m different size packs.

There are
18 bags of crisps m a small pack
20 bags of ensps m a medmm pack
26 bags of cnisps m a large pack

Cr
] Cnsps R
Crisps
7 )
18 b_ﬂ b_ﬁ
bags ags ags
£4 sach pack £4.99 pach pack £6.00 sach pack

Which size pack is the best value for money?
Yoeu must show all your werking.

(Total for Question 4 is 4 marks)

Pearson Edexcel - Thursday 9 June 2016 - Paper 2 (Calculator) Higher Tier
32.



6 The body mass index B, for a persen of mass m kg and height i metrss is given by the formmla

B:—.,
e

Usman has a mass of 30k
He has a height of 1. 57Tm.

(a) Work out Tsman’s body mass index.
Give your answer correct to one decimal place.

Tom's beight iz 1. 80m.
He mwants his body mass mdex to be 21

(o) Work out the mass thar will give Tom 2 body mass index of 21

Tom is a sk jumpsr.

The maximnon length of skds he canuse 1s 145% of his height
Tom's beight is 1. 80 m.

{c) Work out the masinwom length of skds Tom can use.

e ks

A m

{Total for Question & is 7 marks)

Pearson Edexcel - Thursday 9 June 2016 - Paper 2 (Calculator) Higher Tier

33.



11 Colin vworks on 5 days each week.
Each day he drives fromm his home to work and from work to his home.

Ciplin pays £3.50 each day 1o use the car park at work.

The distance from Celin's bome to work is 18 miles.
Ciplin's car uses one gallon of pemol every 452 miles.

1 litre of peirol costs 136.9p
1 zallom = 4546 limes

Whork out the total cost for Colin to use his car for work each wesk.
You must show all your working.

E__

(Total for Question 11 is 5 marks)

Pearson Edexcel - Wednesday 4 November 2015 - Paper 1 (Non-Calculator) Higher Tier
34.



)  The diapram shots a conminer for oil Diapram NOT
The contaner is m the shape of a cuboid. accurately dravm
The container is emopty.

Sally has to fill the container with oil
A botde of il costs £3.30
There are 3000 cm* of oil in each botile.

Sally mmst not spend more than £ 60 baying the odl. Aem

Can Sally buy encugh ol to fll the container? 30 cm
You must show all your working.

(Total for Qoestion  is 4 marks)

Pearson Edexcel - Friday 6 November 2015 - Paper 2 (Calculator) Higher Tier
35.



3 Aliisyvears old
Bhavara 1s twice as old as Al
Caris 15 3 years vounger than Al

The totzl of their ages 15 123 years.

Work out the age of each person.

Al VEATE
Bhavara VEATs
Cens VEars

(Total for Cuestion 3 iz 4 marks)

Pearson Edexcel - Thursday 4 June 2015 - Paper 1 (Non-Calculator) Higher Tier
36.



t4 Tom is going to buy 25 planis to make a hedge.

Here is infermation sbout the cost of buying the plants.

Kirsty’s Plants Hedge World
£2.39 each Pack of 25
£352_50 phas VAT at 20%

Teonm wrants to bay the 25 plants a3 cheaply 25 possibla.

Should Torm btuy the plants from Eirsty™s Plants or from Hedge World?
You momst shovr all your roridng.

(Total for Question 4 is 5 marks)

Pearson Edexcel - Monday 8 June 2015 - Paper 2 (Calculator) Higher Tier
37.



#5 Redlands School sent x students to a revision day.
5t Samuel’s School sent twice as many students as Redlands School.
Franeis Long School sent 7 fewer students than Fedlands School

Each student paid £13 for the revision day.
The students pard a total of £1135

Work out how many stodents were sent by each school to the revision day.
You mmust show all vour worang.

{Total for Question 5 is & marks)
Pearson Edexcel - Monday 8 June 2015 - Paper 2 (Calculator) Higher Tier
38.

¥ Fred is making raro rectangular flower bads.
The dimensions of the larger rectangle will be three times the dimensions of the smallsr

racrangls.

There iz going w be the same depth of s0il in each flovrer bed.
Fred needs 150kg of soil for the smaller flower ed.

Work our bow muich soil Fred needs for the larger flower bed

_________________ _ke
(Total for Question 21 is 2 marks)




Pearson Edexcel - Monday 8 June 2015 - Paper 2 (Calculator) Higher Tier
39.

2} Claire is making 2 loaf of bread
A loaf of bread loses 12%: of its weight when it is baked

Claire wanis the baked loaf of bread to weizh 1.1ke.
Work our the waight of the loaf of bread before it is baked.

_________________ kg
{Total for Question 22 is 3 marks)

Pearson Edexcel - Wednesday 5 November 2014 - Paper 1 (Non-Calculator) Higher Tier
40.

#§ Steve wants to put a hedge along one side of his garden.

He needs to buy 27 plants for the hadge.
Each plant costs £5.54

Steve has £150 to spend on plants for the hedge.

Dioes Steve have enough money to buy all the plants he needs?

(Total for Question & is 4 marks)



Pearson Edexcel - Wednesday 5 November 2014 - Paper 1 (Non-Calculator) Higher Tier
41.

11 Riais going to buy a caravan
The total cost of the caravan 15 £7000 plas VAT at 20%«.

Ria pays a deposit of £3000

She pays the rest of the total cost in 6 equal monthly payments.

Work out the amount of each monthly payment.

(Total for Question 11 is 4 marks)

Pearson Edexcel - Wednesday 5 November 2014 - Paper 1 (Non-Calculator) Higher Tier
42.



14 Suha has a full 600 mi bottle of wallpaper remon-er.
Zhe 13 poing to mix some of the wallpaper remorer with water.

Hera 13 the mformaton on the label of the bottle.

Wallpaper remover
G00 m/

1
Mix ] of the wallpaper remover
with 4500 mf of water

Suha is gomeg to use 750 mf of water.

How many omlhilitres of wallpaper remover should Suba use?
You must show your worddng.

S m/
(Total for Question 14 1= 4 marks)

Pearson Edexcel - Friday 7 November 2014 - Paper 2 (Calculator) Higher Tier
43.



1 Here are the ingredients needed to make 10 pancakes.

Pancakes
Ingredients to make 10 pancakes

300 mf of mlk
120 g of flowr

2 eges

Matthew malkes 30 pancakes.

(a) Work out how much flour he uses.

Tara makes some pancakes.
She uses 750 m/ of milke

(b) Work ocut how many pancakes she makes.

{Total for Question 1 is 4 marks)

Pearson Edexcel - Friday 7 November 2014 - Paper 2 (Calculator) Higher Tier
44,



‘11 Saphia is organising 2 conference.
People at the conference will sit at circular tables.

140 con————F
Diagram NOT
acourately dranm

Each table has a diametar of 140cm
Each person needs &0 cm areund the circumderence of the wmble.

There are 12 of these tables i the conference room.
A ozl of 90 people will be at the conference.

Ara there enongh tables in the conference room”

{Total for Question 11 is 4 marks)

Pearson Edexcel - Monday 9 June 2014 - Paper 1 (Non-Calculator) Higher Tier
45,



4 Mr Brovwn and his 2 children are going to London by tram.

An adult ticket costs £24
A child ticket costs £12

Mr Brown has a Famuly Railcard.

Family Railcard gives
% off adult tickets

60% off child tickets

Work out the total cost of the tickets when Mr Brown uses his Fanmly Railcard.

(Total for Question 4 is 4 marks)

Pearson Edexcel - Friday 13 June 2014 - Paper 2 (Calculator) Higher Tier
46.



11 Here is a plan of Martn’s drivewray.

Dizgram NOT
accurately dranm

% 1lm -

Marin iz going to cover his drveray with gravel

The gravel will be & cm desp.

Gravel is sold in bags.

There are 0.4 m' of gravel in =ach bag.

Each bag of gravel costs £38

Marin gets 3 discount of 30% off the cost of the gravel.

Work out the total amount of maoney Martin pays for the gravel.

{Total for Question 11 is 5 marks)

Pearson Edexcel - Wednesday 6 November 2013 - Paper 1 (Non-Calculator) Higher Tier
47.



1 This is a list of ingredients for making chicken soup for 4 people.
i B

Ingredients for 4 people

6l g butter

300 g chicken

150 m{ cream

1 onion

640 m!/ chicken stock

% @

Bill iz going to make chicken soup for 6 people.

Work out the amount of each ingredient he needs.

.......................................... £ butter

.......................................... o chicken

.......................................... m/ chicken stock

(Total for Question 1 is 3 marks)

Pearson Edexcel - Wednesday 6 November 2013 - Paper 1 (Non-Calculator) Higher Tier
48.



T Rita is going o make some cheeseburgers for a panty.
She buys some packets of cheese slices and some boxes of burgers.

There are 20 cheese slices in each packet.
There are 12 burgers in each box.

Rita buys exactly the same number of cheese slices and burgers.

(iy How many packets of cheese slices and how many boxes of burgers does she buy?

___________________ packets of cheese slices

___________________ — boxes of burgers
Rita wants to put one cheese slice and one burger into each bread roll.
She wanis to use all the cheese slices and all the burgers.
(ii} How many bread rolls does Rita need?
_______________ bread rolls

{Total for Question 7 Is 4 marks)

Pearson Edexcel - Friday 8 November 2013 - Paper 2 (Calculator) Higher Tier
49.



6 There are 130 adulis at a language school
Each adult studies one of French or Spanish or German.

Q6 of the adults are women.

12 of the women stwdy French.
73 of the adults study Spanish.
55 of the women stwdy Spanish.
9 of the men study German,

How many of the adults study French?

(Total for Question 6 Is 4 marks)

Pearson Edexcel - Friday 8 November 2013 - Paper 2 (Calculator) Higher Tier
50.



13 Axel and Lethna are driving along a motorway.

They sec a roead sign.
The road sign shows the distance to Junction &
It also shows the average tirme drivers will take o get to Junction &

To Junction 8

30 miles
26 minutes

The speed limit on the motorway is 70 mph.
Lethna says,
“Wie will hawve to drive faster than the speed limit to go 30 miles in 26 minotes.”

Is Lethna right?
You must show how you got your answer.

(Total for Question 13 is 3 marks)

Pearson Edexcel - Friday 8 November 2013 - Paper 2 (Calculator) Higher Tier
51.



23 The table shows information about 10635 students.

Year 7
Year 8
Year 9
Year 10
Year 11

Male

126
112
121

ER

Elena takes a stratified sample of 120 students by year group and by gender.

Work out the number of Year 8 female students in her sample.

(Total for Question 23 is 2 marks)

Pearson Edexcel - Tuesday 11 June 2013 - Paper 1 (Non-Calculator) Higher Tier

52.

*1%5 Ome sheet of paper is 9 = 100 cm thick

Mark wanis 1o put 200 sheets of paper into the paper iray of his printer.

The paper tray is 4 cm deep.

Iz the paper iray deep enouagh for 506 sheets of paper?

You miust explain your answer.

{Total for Question 15 ks 3 marks)



Pearson Edexcel - Friday 14 June 2013 - Paper 2 (Calculator) Higher Tier

53.

*2 Here is a list of ingredients for making 13 mince pies.

Ingredients for 18 mince pies
225 g of butter
350 g of flour
100 g of sugar
280 g of mincemeat
1 egz

Elaine wants to make 45 mince pies.
Elaine has
1 kg of butter
1 kg of flour
500 g of sugar
GO0 2 of mincemseat
6 egps

Does Elaine have enough of each ingredient to make 45 mince pies?
YWou must show clearly how you got your answer.

(Total for Question 2 is 4 marks)

Pearson Edexcel - Friday 14 June 2013 - Paper 2 (Calculator) Higher Tier
54,



#  The diagram shows the plan of a playground.

&0 m

Diiagram NOT
30 m accurately drawn

ol m

A0 m

40 m

Rill is going to cover the playgrownd with tarmac.
It costs £2.56 1o cover each square metre with tarmac.

Work out the total cost of the tarmac Bill needs,

£

{Total for Question § is 4 marks)

Pearson Edexcel - Friday 14 June 2013 - Paper 2 (Calculator) Higher Tier
55.



21 In Holbom School there are

4l students in Key Stage 3
XD smudents in Key Stage 4
165 smdents in Key Stage 5
Mimer i carrying ouwt a survey

He needs a sample of 100 students stratified by Key Stage.
Work out the number of students from Key Stage 3 there should be in the sample.

{Total for Question 21 is 2 marks)

Pearson Edexcel - Monday 4 March 2013 - Paper 2 (Calculator) Higher Tier
56.

*1 225 prams of four are needed to make % cakes.

Manan wants to make 20 of these cakes.
She has 475 grams of flour.

Dwes Marian have enough flour to make 20 cakes?
You must show all your working.

{Total for Question 2 is 3 marks)



Pearson Edexcel - Monday 4 March 2013 - Paper 2 (Calculator) Higher Tier
57.

6 Mr Watkins needs to buy some oil for his central heating.

Mr Watkins can put up to 1500 litres of oil in his oil tank.
There are already 830 litres of oil in the tank.
Mr Watkins is going to fill the tank with oil.

The price of il is 67.2p per litre.
Mr Watkins gets 5% off the price of the oil.

How much does Mr Watkins pay for the oil he needs to buy?

(Total for Question 6 Is 5 marks)

Pearson Edexcel - Monday 4 March 2013 - Paper 2 (Calculator) Higher Tier
58.



13 The table shows information about the ages, in years, of 300 students.

Age (years) 11 12 13 I4 15 1]

Number of students 41 40 50 4% 53 GE

lan takes a sample of 50 of these students, stratified by age.

Calculate the number of 16 year old siudents he should have in his sample.

_ (Tatal for Question 23 is I marks)

Pearson Edexcel - Tuesday 6 November 2012 - Paper 1 (Non-Calculator) Higher Tier
59.



1 Here are the ingredients needed to make 16 gingerbread men.

Ingredients
to make 16 gingerbread men
180 2 flour
40 g ginger

110 g butter
30 g sugar

Hamish wants to make 24 gingerbread men.

Work out how much of each of the ingredients he needs.

SR s T g flour
...................................................... 2 ginger
...................................................... g butter

....................................................... g sugar

(Total for Question 1 is 3 marks)

Pearson Edexcel - Tuesday 6 November 2012 - Paper 1 (Non-Calculator) Higher Tier
60.



*3  Here is part of Gary's electricity bill.

Electricity bill

New reading T155 units
Old reading TO95 units
Price per unit  15p

Work out how much Gary has to pay for the units of electricity he used.

{Total for Question 3 is 4 marks)

Pearson Edexcel - Tuesday 6 November 2012 - Paper 1 (Non-Calculator) Higher Tier

61.



T Here is a diagram of Jim's garden.

Diagram NOT
accurately drawn

9m

18 m

Jim wants to cover his garden with grass seed to make a lawn.

Girass seed s sold in bags.,
There is enough grass seed in each bag to cover 20 m” of garden.

Each bag of grass seed costs £4.99

Work out the least cost of putting grass seed on Jim's garden,

£

{Total for Question 7 s 4 marks)

Pearson Edexcel - Tuesday 6 November 2012 - Paper 1 (Non-Calculator) Higher Tier
62.



18 The diagram shows part of a pattern made from tiles.

Dhiagram NOT
accurately drawn

The pattern is made from two types of tiles, tile A and tile B.
Baoth tile A and tile B are regular polygons.

Work out the number of sides tile A has.

(Total for Question 18 is 4 marks)

Pearson Edexcel - Thursday 8 November 2012 - Paper 2 (Calculator) Higher Tier
63.



‘3 A company sells boxes to factories.
Fred buys boxes.
The boxes are sold in packs of 1000
Each pack costs £193.86

Fred orders 3 packs of boxes.
He gets a discount on his total order.

The table shows the discount he will get.

Total Order Discount

£100 - £300 5%

£301 - £400 10%
£401 and above 15%

‘Work out the total cost of the order after the discount.
You must show your working.

(Total for Question 3 is 5 marks)

Pearson Edexcel - Thursday 8 November 2012 - Paper 2 (Calculator) Higher Tier
64.

T 160 em of gold wire has a weight of 17.8 grams.
Work out the weight of 210 cm of the gold wire.

(Tatal for (uestion 7 is 3 marks)




Pearson Edexcel - Monday 11 June 2012 - Paper 1 (Non-Calculator) Higher Tier
65.

2 The diagram shows a patio in the shape of a rectangle.

Diagram NOT
apcurately drawn

36m

The patio is 3.6m long and 3 m wide.

Matthew is going to cover the patio with paving slabs.
Each paving skab is a square of side 60 cm.

Matthew buys 32 of the paving slabs.

{a) Docs Matthew buy enough paving slabs to cover the patio?
You must show all your working.

The paving slabs cost £8.63 cach.

{b) 'Work out the total cost of the 32 paving slabs.

o =

(Total for Question 2 is & marks)

Pearson Edexcel - Monday 11 June 2012 - Paper 1 (Non-Calculator) Higher Tier
66.



3 Bill uses his van to deliver parcels.
For cach parcel Bill delivers there is a fixed charge plos £1.00 for each mile.

You can use the graph to find the total cost of having a parcel delivered by Bill.

b1

50

Cost(£) 40

30

20

1]

u -
o 5 10 15 M 25 30 3% 40 45 30
Distance (miles)

{a) How much is the fixed charge?

Ed uses a van o deliver parcels.
For cach parcel Ed delivers it costs £1.50 for each mile.
There is no fixed charge.

(b} Compare the cost of having a parcel delivered by Bill with the cost of having a parcel
dilivered by Ed.

(3)
{Total for CQuestion 3 is 4 marks)

Pearson Edexcel - Monday 11 June 2012 - Paper 1 (Non-Calculator) Higher Tier
67.



6 Here are the ingredients needed to make 12 shortcakes.

Shortcakes
Makes 12 shortcakes

50 g of sugar
200 g of butter
200 g of flour

10 md of milk

Liz makes some shortcakes.
She uses 25 m/ of milk.

(a) How many shortcakes does Liz make?

Roben has 500 g of sugar
1000 g of butter
1000 g of flour
500 m/ of milk

(b) Work out the greatest number of shortcakes Robert can make.

(Total for Question 6 is 4 marks)

Pearson Edexcel - Monday 11 June 2012 - Paper 1 (Non-Calculator) Higher Tier
68.



12 Jane has a carton of orange juice.
The canton is in the shape of a cuboid.

[ Diagram NOT
socurately drawn

20 cm

¥

10 cm

i e

The depth of the orange juice in the carton is 8cm

Jane closes the carton.
Then she tums the carton over so that it stands on the shaded face.

Work out the depth, in cm, of the orange juice now.

{Total for Question 12 is 3 marks)

Pearson Edexcel - Wednesday 13 June 2012 - Paper 2 (Calculator) Higher Tier
69.



*5  Mr Weavers garden iz in the shape of a rectangle.
In the garden
there is a patio in the shape of a rectangle
and two ponds in the shape of circles with diameter 3.8 m.

The rest of the garden is grass.

17 m

accurately drawn

Be—
ZEm

Mr Weaver is going to spread fertiliser over all the grass.
Ome box of fertiliser will cover 25 m?® of grass.

How many boxes of fertiliser does Mr Weaver need?
You must show your working.

(Tatal for Question 5 ks 5 marks)

Pearson Edexcel - Wednesday 13 June 2012 - Paper 2 (Calculator) Higher Tier
70.



"6 Potatoes cost £9 for a 12.5 kg bag at a farm shop.
The same type of potatoes cost £1.83 for a 2.5 kg bag ai a supermarket.

Where are the potatees the better value, at the farm shop or at the supermarket?
You must show your working.

(Total for Question 6 ks 4 marks)

Pearson Edexcel - Wednesday 13 June 2012 - Paper 2 (Calculator) Higher Tier
71.



*15 Henry is thinking about having a water meter.

These are the two ways he can pay for the water he uses.

Water Meter ' Mo Water Meter
A charge of £28 20 per year A charge of £107 per year
plas

01.22p for every cubic metre of waler used

1 cubie metre = 1000 Hires

Henry uses an average of 180 litres of water each day.

Henry wants bo pay as Lifthe as possible for the water he uses.
Should Henry have a water meter?

(Total for Question 15 ks 5 marks)

Pearson Edexcel - Wednesday 13 June 2012 - Paper 2 (Calculator) Higher Tier
72.



13 (a) Max wants to take a random sample of students from his year group.

{i) Explain what is meant by a random sample.

(i) Describe a method Max could use to take his random sample.

(b) The table below shows the numbers of sfudents in 5 year groups at a school

Year Number of students
9 239
] 257
11 248
12 190
13 206

Lisa takes a stratified sample of 100 students by year group.

Work out the number of students from Year 9 she has in her sample.

(Total for Question 13 ks 4 marks)

Pearson Edexcel - Friday 2 March 2012 - Paper 3 (Non-Calculator) Higher Tier
73.



3. Fred buys 18 tins of polish costing £2.37 each.

(a) Work out the total cost.

SO
(3)
A vacuum cleaner costs £85
Fred gets 10% off the price of the vacuum cleaner.
(b) Work out how much he has to pay.
(3)

(Total 6 marks)

Pearson Edexcel - Monday 5 March 2012 - Paper 4 (Calculator) Higher Tier
74.



4. John needs 4 tyres for his car.
Offer of the week

He pays for 3 tyres and gets one tvre free. 4 for the price of 3
The tyres cost £63 cach plus VAT at 2004

Work out how much in total John pays for the tyres.

£

65 each plus VAT

{Total 4 marks)

Pearson Edexcel - Monday 6 June 2011 - Paper 3 (Non-Calculator) Higher Tier
75.



1. Here is a list of ingredients for making 10 Flapjacks.

Ingredients for 10 Flapjacks
80 g rolled oats

60 g butter

30 m{ golden syrup

36 g light brown sugar

Work out the amount of each mngredient needed to make 15 Flapjacks.

£ rolled oats

g butter

m/ golden syrup

g Light brown sugar

(Total 3 marks)

Pearson Edexcel - Monday 6 June 2011 - Paper 3 (Non-Calculator) Higher Tier
76.
6. Each extenior angle of a regular polygon is 307

Work out the number of sides of the polygon.

{ Total 2 marks)




Pearson Edexcel - Friday 10 June 2011 - Paper 4 (Calculator) Higher Tier
77.

Lé. In a sale the normal price of a book 15 reduced by 10%%.
The sale price of the book 15 £4.86

Calculate the normal price of the book.

{Total 3 marks)

Pearson Edexcel - Friday 10 June 2011 - Paper 4 (Calculator) Higher Tier
78.



11, There are three secondary schools in Banley.
The table shows the number of students in cach of these schools.

Adis College Greslow High Fripp School

750 T S

Germaine takes a sample of 50 students siratified by school.

Work out the number of students from Greskow High in the sample.

Pearson Edexcel - Tuesday 9 November 2010 - Paper 3 (Non-Calculator) Higher Tier
79.

7. Paul drives 175 miles fo 2 mesting.
His company pays him 37p for each mile.

Wiark gut bonr mwch the company pays Paul.

(Total 3 marks)




Pearson Edexcel - Tuesday 9 November 2010 - Paper 3 (Non-Calculator) Higher Tier
80.

1l. Lirzis bought a van. I
The total cost of the van was £6000 plas VAT at 1.":'“.:.

Lirzie paid £3000 when she got the van
She paid the rest of the toml cost of the van in 10 equal menthly payments.

Wark our the amoumt of each monthly payment.

{Total § marks)

Pearson Edexcel - Tuesday 9 November 2010 - Paper 3 (Non-Calculator) Higher Tier
81.



15, The table shovs information about the ages, in years, of 1000 teenagers.

Age (vears) 13 14 15 6 | 17 13 19
Number of teemagers| 153 | 180 | 185 | 141 | 131 | 115 | 110

Smone takes 3 sample of 30 of these tesnagers, stratified by age.

Calculate the mmnber of 14 year olds she should have in her sampls.

Pearson Edexcel - Friday 12 November 2010 - Paper 4 (Calculator) Higher Tier
82.

4. Here is a lisl ol ingredients o make melon sorbel for & people.

Melon Sorbet
Tar & paople

D0 g melon
4 eggwhiles

100y caster sugar

Terry makes melon sorbel For 18 people.

(a) Work oul how much caster sugar he useas,

.................................. g
@
Hedley makes melon sorbel.
He usas 2 limes.
(b} Work oul how many people ha makes melon serbel for.
@

(Total 4 marks)




Pearson Edexcel - Friday 12 November 2010 - Paper 4 (Calculator) Higher Tier
83.

2 N

A waler container has 19.5 litres of waler in il
A cup holds 210 m/ of waler.

Al most 92 cups can be filled completely from the walter container.

Explain why.
You must show all your working.

(Total 3 marks)

Pearson Edexcel - Friday 11 June 2010 - Paper 4 (Calculator) Higher Tier
84.



1. Here is a list of ingredients for making a trifle for 4 people.

Trifle for 4 people

120g of raspberry jelly
B8 sponge fingers

420 m/ of custard

180g of tinned fruit

Rob is going to make a trifle for 6 people.
Work out the amount of each ingredient he needs.

.......................... g of raspberry jelly
.......................... sponge fingers
m/ of custard

g of tinned fruit

(Total 3 marks)

Pearson Edexcel - Tuesday 10 November 2009 - Paper 4 (Calculator) Higher Tier

85.



1
10. A computer costs £360 plus 177 % VAT
£360
Calculate the total cost of the computer.
plus
173 % VAT
-
(Total 3 marks)

Pearson Edexcel - Tuesday 10 November 2009 - Paper 4 (Calculator) Higher Tier
86.

2]1. In a sale, normal prices are reduced by 12%.
The sale price of a digital camera is £132_88

Work out the normal price of the digital camera

{Total 3 mariks)

Pearson Edexcel - Tuesday 10 November 2009 - Paper 4 (Calculator) Higher Tier
87.



24. The table below gives some information abour some smadents in a schoal.

Year group Boys Girls Total
Year 12 126 o4 0
Year 13 77 85 162

Total 203 179 382

Andrer is going to carmy out & sarvey of thess smdants.
He uses a sample of 50 smdents, swratified by vear group and gender.

Work out the mmmber of Year 13 girls that should be m his sample.




OCR GSCE - Tuesday 3 November 2020 - Paper 4 (Calculator) Higher Tier
88.

10 The diagram shows Jane's lawn.
It is in the shape of a square of side 36m and three semi-circles.

Mot to scale

She is going to spread fertiliser on the lawn at a rate of 30g per sguare metre.
The fertiliser is only sold in 10kg bags costing £15.80 each.

Calculate the cost of buying the bags of fertiliser for her lawn.
You must show all your working.

OCR GSCE — Monday 9 November 2020 — Paper 6 (Calculator) Higher Tier



89.

. . [ 3.93x393 3 . "
4 Nina estimates the value of _ || ———s """ rounding each number to 1 significant figure.
Y i-0_545 = 220 by g 9 9
(a) Show that Nina's answer is 64. [3]

(b) Calculate the error in her estimated answer as a percentage of the exact answer.

OCR GSCE — Monday 11 November 2019 — Paper 6 (Calculator) Higher Tier



90.

10 Nine consecutive numbers are written on a 3-by-3 grid.
They are arranged, in ascending order, in a spiral as shown.

Y

(a) Karen writes the numbers 3 to 11 on her grid.

3 4 5
Mm|11| 6
9 8 7

The total of the first column is 3+10+9 = 22,

Karen says

The total of the first column is one less than the total of the second column.

Show that this is correct for Karen's grid.

[1



(b) Victor says
If any nine consecutive numbers are arranged in ascending order in this spiral on a
3-by-3 grid, the total of the first column will always be one less than the total of
the second column.

Prove that Victor is correct. [5]



OCR GSCE — Thursday 6 June 2019 — Paper 5 (Non-Calculator) Higher Tier
91.

3 Ed has a card shop.
(a) He buys a particular card for £1.20 and sells it for £1.68.

Calculate his percentage profit on this card.

{a) o

(b) Ed’s profit on “Good Luck” cards in 2018 was £360.
This was a decrease of 20% on his profit in 2017.

Work out Ed's profit on "Good Luck” cards in 2017.

1) F

cevennen Yo [3]

[3]



OCR GSCE — Tuesday 11 June 2019 — Paper 6 (Calculator) Higher Tier
92.

1  Agrain of salt weighs 6.48 = 1ﬂ'5kg on average.
A packet contains 0.35kg of salt.

(a) Use this information to calculate the number of grains of salt in the packet.

(b) Explain why your answer to part (a) is unlikely to be the actual number of grains of salt in the
packet.

[



OCR GSCE — Tuesday 11 June 2019 — Paper 6 (Calculator) Higher Tier
93.
6 Abag contains some counters.

*  There are 300 counters in the bag.

«  There are only red, white and blue counters in the bag.
23

«  The probability of picking a blue counter is —.

50
+  The ratio of red counters to white counters is 2 : 1.

Calculate the number of red counters in the bag.

et et [4]



OCR GSCE - Thursday 8 November 2018 — Paper 5 (Non-Calculator) Higher Tier
94.

5 The depth of water in a garden pond is 57.8cm.
The depth decreases by 0.3cm per day.

(a) Assume the depth continues to decrease at the same rate.

After how many days will the depth reach 54.2cm?

(a)

cereiieaee.. days [3]

(b) If the depth of water decreases at a slower rate, what effect will this have on your answer to

part (a)?

]



OCR GSCE — Monday 12 November 2018 — Paper 6 (Calculator) Higher Tier
95.

16 AE1 coin weighs 8.75g, correct to the nearest 0.014g.
Mitul weighs the contents of a large bag of £1 coins.
The coins weigh 2.63 kg, comect to the nearest 10g.

Mitul says

I am sure that the bag contains exactly £300 because, using bounds,
2625 = 8,755 = 299.8 to 1 decimal place.

Show that Mitul may not be correct.



OCR GSCE — Tuesday 12 June 2018 — Paper 6 (Calculator) Higher Tier
96.

13 (a) Calculate the volume of a sphere with radius 6cm.

[The volume V of a sphere with radius ris V= %:rj’_]



(b} An ornament is made from a solid glass sguare-based pyramid.
The base has side length 15cm.
A hamisphera with radius 6 cm is cut out of the basa of the pyramid.
This reduces the volumea of glass contained in the omament by 30%.

15cm

Calculate the perpendicular height of the pyramid.
[The volume of a pyramid iz % * area of base = perpendicular haight.

A hemisphere is half a sphare ]






OCR GSCE - Tuesday 6 November 2017 — Paper 5 (Non - Calculator) Higher Tier
97.

4 (a) Factorise.

x? — 432

(@) e 1D
(b) Calculate.

572432

(B) oo [2]

OCR GSCE — Tuesday 13 June 2017 — Paper 6 (Calculator) Higher Tier
98.

11  Sunil makes 7.5 litres of soup, correct to the nearest 0.5 litre.
He serves the soup in 300mil portions, correct to the nearest 10mil.
24 people order this soup.

Does Sunil definitely have enough soup to serve the 24 people?
Show how you decide.



OCR GSCE — Tuesday 13 June 2017 — Paper 6 (Calculator) Higher Tier
99,

18 Alvin has a crate in the shape of a cuboid.
The crate is open at the top.
The intemnal dimensions of the crate are 46 cm long by 46 cm wide by 55cm high.

55cm

D

/ 46cm

Alvin has a stick of length 95cm.

Alvin places the stick in the crate so that the shortest possible length extends out above the top of
the crate.

(a) Calculate the length of the stick that extends out of the crate.

() O S cm [4]
(b) Calculate the angle the stick makes with the base of the crate.



OCR GSCE - Sample Papers — Paper 4 (Calculator) Higher Tier
100.

9 (a) Anna estimates the height of a tree.

Anna holds a ruler vertically so the height of the tree is exactly covered by the ruler.
She is 20 metres from the tree.

The ruler is 30cm long.
The horizontal distance from her eyes to the ruler is 60cm.

Calculate an estimate of the height of the tree.

[ [ ) [ | | = |
{b) Give two reasons why this method may not be suitable to estimate the height of a very tall
building.
i
2



AQA GSCE - Thursday 8 November 2018 — Paper 2 (Calculator) Higher Tier
101.

13 Ashraf is going to put boxes into a crate.
The crate is a cuboid measuring 25mby2mby 1.2 m
Each box is a cube of length 50 cm

He does these calculations.

volume of crate = 25=2=1.2
= 6m
volume of onebox = 05x05x=x05
= 0.126m°
number of boxes = 6 +0.125
= 48

He claims,

“I can put 48 boxes in the crate.”

Evaluate Ashraf's method and claim.
[2 marks]




AQA GSCE - Thursday 7 June 2018 — Paper 2 (Calculator) Higher Tier
102.

6 The table shows information about the population of a city.

Population in 2001 Population in 2011

420 000 480 000

Liam claims,
“From 2011 to 2021 the population of the city will increase by
the same percentage as from 2001 to 2011”

He works out,

population increase from 2001 to 2011 = 480 000 — 420 000
= 60 000

population in 2021 = 480 000 + 60 000
= 540 000

Does the population of 540 000 match his claim?

You must show your working.
[3 marks]

Answer




AQA GSCE - Sample Paper 3 (Calculator) Higher Tier

103.
21 A box is a cuboid with dimensions 27 em by 15 cm by 20 cm

These dimensions are to the nearest centimetre.

DWD cases are cuboids with dimensions 1.5 cm by 14.3 cm by 19.2 cm

These dimensions are to the nearest millimetre.

19.2 cm
20 cm
15 ocm 14.3 cm

27 cm 1.5cm

Show that 17 DVD cases, stacked as shown, will definitely fit in the box.
[4 marks]




